03/04/2020



700*780"820mm

500*440*110mm

175*160*110mm

®50*200mm

1107110"250-270mm

R: 350*70mm

R: 250*65mm

@80*60mm

el B ™ N ™ N NN [ N R N [ N Y

@®80*60mm

Q@ ©
% @ PEREEEEIEE

B

©

M6*18%1.2
8PCS

M6

2/6

QD©



M6*20
4PCS

B

©

M6*18*1.2
4PCS

3/6

B
fmm | © | |
M6*20 | M6*18*1.2 M6
4PCS 4PCS
C







Make the Joy Last

DANSK - For information vedr. vediigeholdelse af produktet og materialer — venkgst beseq:

ENGLISH - For information regarding care and maintenance of product and materials — please visit:

DEUTSCH - Informationen zur Pflege und Wartung des Produkts und der Materiaken finden Sie hier:

ESPANOL - Para obtener informacion acerca del cuidado y el mantenimiento de productos y materiales, visite:

PORTOGUES - Para informagbes relativas ao cuidado e manutengio de produtos e materiais, visite:

SLOVENSCINA - Informacije o negi in vzdrzevanju izdelka ter materialov s0 na voljo na tem nasiovu

SVENSKA - For information om skotsel och underhdll av produkt och material - besok!

FRANCAIS - Pour plus dinformations au sujet de l'entretien et de la maintenance du prodult et des maténaux, rendez-vous a l'adresse !
NORSK - For informasjon om pleile og vedlikehold av produkt og materialer, se;

SUOMI - Lisabetofa tuotteen ja matenaalien huollosta ja kunnossapidosta on csoitteessa

NEDERLANDS - Ga voor meer informatie over verzorging en onderhoud van het preduct en de materialen naar:

ITALIANO - Per informazioni riguardanti la cura e ka manutenzione di prodotti @ materiali, visitare:

CESTINA - Daldi informace ohledné GdrZby a péde o virobek a povrchové matendly naleznete na webové strance:

POLSKI - Aby uzyskac informacje na ternal pielggnacii i konserwacji produkiu i materialow, odwiedz:

SLOVENSKI - Dalsie informacie o GdrZbe a starostlivosti o produkt a povrchové materialy ndjdete na webovej lokalite:

MAGYAR - A termékek és anyagok apolasara és karbantartasara vonatkozo informaciokért kérjik, latogasson el a kovetkezd oldalra:
TURKGE - Uriin ve matzemelerin temizik ve bakimi hakkinda bilgi akmak iin - litfen ziyaret edin:

PYCCKWUM - Mashopraalins no yXoay 38 nageniem n matepuanami Ha caire:

ROMANA - Pentru informatii privind ingrijirea i intretinerea produsului $i a materialelor, va rugam sa vizitati

INDONESIAN ~ Untuk informasi lebih lanjut mengenai petunjuk perawatan barang dan material — harap kunjung:

makethejoylast.com

5/6



‘o 7 5

DANSK ~ OBS, Vaer venkgst opmaerksom pé at det kan vaere nadvendigt at monterer eller udskifte beskytlelsefodder som sikre at underlaget ikke beskadiges, Kontakt
venligst din mebelforhandler for yderligere oplysninger.

ENGLISH - ATTENTION. Please note that it might be nessecary to fit or replace the protective caps 1o ensure that the flooring is not damaged. Please contact your
furniture supplier for futher information.

DEUTSCH - BITTE BEMERKEN. Ditte beachten Sie, dass es notwendig sein konnte, die Schulzfife zu montieren oder auszutauschen um sicherzugehen, dass der
Untergrund nicht beschadigt wird. Fir weitere information kontaktieren Sie bitte |hren M&belhandler.

ESPANOL -~ ATENCION, Tenga en cuenta que puede ser r 10 instalar o sustiuir tacos de proteccidn para asegurar quye la superficie no sea dahada. Pongase en
contacto con su distribudior de muebles para mas detalles.

PORTOGUES -~ ATENGAQ, Tenha em atengio que podera ser necessano colocar ou substituir as tampas de protegio para garantir que o0 piso ndo é danificado.
Contacte o seu fornecedor de mobilidrio para obter mais informagbes

SLOVENSCINA - POZOR. Upostevajte, da boste morda morali namestiti ali zamenjali zascilne cepke, da prepredite poskodovanje tal. Za vec informacij se obmite na
dobavitelja pohistva.

SVENSKA - OBS! Observera alt kan det bli nddvindigt att montera eller ersétta skyddsfotter for att inte underlaget ska skadas, Kontakta din mobelleverantor for mer
information.

FRANGAIS ~ AVIS IMPORTANT. Merci de noter qu’il peul élre nécessaire d'installer ou remplacer des embouts pour éviter endommager le plancher, Pour des
reseignements supplémentaire contactez votre magasin de meubles.

NORSK - ADVARSEL. Veer oppmerksom pa at det kan vaere nedvendig a montere eller skifte beskyttelsesknotter for & unnga skade pa gulvet. Kontakt
mebelforhandleren for ytterligere informasjon

SUOMI - HUOMAA. Huomaa, etta lattian vaurioitumisen estamiseksi voi olla tarpeen asentaa tai vaihtaa suojatulpat. Lisatietoja saat ottamalla yhteytta huonekalujen
toimittajaan

NEDERLANDS - LET OP. U moet mogelijk beschermdoppen aanbrengen of de huidige vervangen om ervoor te zorgen dat de vioer niet beschadigd raakt. Voor meer
informatie kunt u contact opnemen met de leverancier van uw meubel,

ITALIANO - ATTENZIONE. Potrebbe essere necessario montare o sostituire ke custodie di protezione in modo da non danneggiare la pavimentazione. Contattate il
vostro fornitore di mobili per maggion informazioni

CESTINA - POZOR. Pravdépodobné bude nutné nasadit nebo vyménit ochranné krytky, aby nedoélo k po&kozeni podlahové krytiny. Dalél informace ziskate od
dodavatele nabytku.

POLSKI - UWAGA. Prosze pamigtac, 2e moze byé konseczne zalozenie lub wymiana nasadek ochronnych w celu ochrony powierzchni podogi przed uszkodzenem.
Skontakly si¢ ze swoim dostawca mebli, aby uzyskad wiece| informacji.

SLOVENSKI — POZOR - Upozorfiujeme, Ze na ochranu podiéh pred podkedenim méze byt nevyhnutné nasadit alebo vymenit ochranné koncovky. Daléie informéacie
vam poskyine vas dodavatel nabytku

MAGYAR - FIGYELEM! A padi6 sérllésének megelSzése érdekében véddsapkak felhelyezésére vagy cseréjére lehet szlikség. Tovabbi informacidkkal a bitor
szallitdja szolgalhat.

TORKGE — DIKKAT. Zemin kaplamasinin zarar gormemesini sagdlamak igin koruyucu kapak takmak veya kapaklan degistirmek gerebilir. Daha fazla bilgi igin litfen
mobiya tedarikginiz ile iletigime gegin

PYCCKUW - BHYMAHUE. Bo nabexasme NcapesaeHitil HanonsHOoro NOKPeITHA MOKET NOTREBOBATLCA NOAIOHKA UM JAMEHA SALUMTHEX KONNAUKoE, CanxuTecs ¢
BAWNM NPOSABLUOM MeBeNn ANA NONYHEHUR AONONHATENMLHOR MHHOPMaLwN

ROMANA ~ ATENTIE. Refineti faptul ca ar putea fi necesara ajustarea sau inlocuirea capacelor de protectie pentru a evita deteriorarea podelei. Pentru informatii
suplmentare, contactali furnizorud de mobiier,

INDONESIAN - PERHATIAN, Harap dicatat bahwa mungkin perlu untuk memasang atau mengganti tutup pelindung untuk memastikan bahwa lantai tidak rusak.
Silahkan hubungi pemasok furnitur Anda untuk informasi lebih lanjut.

6/6



